MILOU-GK: do” P~7P/d}t| for different xB

e+p: 5x100

NSET: 2 (DVCS only)
ITFORM: 8

CFF table: GK

N events: 1.00x10A7
Total X-section: 1.33 nb
Int Lumi: 7.52 x 1076 nb/-1

X: 9X10A-5 ~ 7x10A-1

Q2: 0.8 ~ 1000 ( Q2 > 1 applied)
t|: 0~ 1.6

y: 0~ 1 (0.05-0.95 applied)

do” P="P/ditl do’ P>"P/dl do” P="P/ditl
% 10F slope: -12.334 + 0.004 % slope: -7.264 + 0.001 % 10 slope: -6.225 + 0.002
> 0.0004 < x < 0.0010 > 10 0.0010 < x < 0.0040 > F 0.0040 < X < 0.0100
o 2 2 - 2
S <Q>=12 g <Q>=15 g t <Q>=18
S 4t £ 1 S 1F
= - - = E
° B 2 C
Z ; 10" i 1 C
O © BIOF
C10E © ©° F
E -2
= 10
2
3 10 E'
10
10'2 IS B EETE T TR IR ST . S T PR B, Y ST
1 15 2 0 05 1 15 2 0 05 1 15 2
Itl (GeV?) It (GeV?) Itl (GeV?)
do” P="P/ditl do” P=>"P/di do” P~ "P/diti
L 10F slope: -5.836 + 0.002 % slope: -4.813 + 0.003 % slope: -3.564 + 0.003
> 0.0100 < x < 0.0400 > 'F 0.0400 < X < 0.1000 > 0.1000 < X < 1.0000
S 1k <Q*>=19 S E <Q>=24 g —_ <Q*>=63
2 F € [ e
3 f S0’ F 3
F10'F £ F £
"‘_'g ; -,% i .tg 2
- , _
10.25 10 E 10
o L _ N N\, [t fluctuaton 7
0 05 1 15 2 0 05 1 15 2 0 05 1 15 2
Itl (GeV?) It (GeV?) Itl (GeV?)



Comparison with COMPASS
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do? P=7P/d}t| for different Q2

do” P="Prdlt do” P="P/dl do” P P/diti
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Kinematics map (same input)
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